EARAROBEEIERT — 2 N— IBISH —F

201296 A3H () 3mpR#2H

Ul o R2m B [EE] B

‘ [R1&] & ‘ [REBE] — |2 (&) 12000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N HALLIBATE :10. — . - SBAFE (ER)
N APEIE s e R
L:BHIHFN=h B:EH/FTLIT ARSUHB A/ 77— 4
8,9 = s 2 | EEE= 1:10.2 1-1 34.5| — 6 408 | ROERI (5E%)
EE 6 I—>>t/—7 54.0 (1 1/4) (=) (#) HiEx
L:TLeFFEaT1 BiePMLARA-L NEHIS
B . s 2 | KEHRYR 1:10.7 7-8 3.5 — 1 438 | RHET (RR)
IR R ZA A 54.0 @) (o) | O— FA-2557
R:xALZT - BLF1TTuHL TATAT7— L
RN o . PEAHm :10. -~ . - 5B (FH)
4 o | #rvLin—k o2 o 171(&7 3-4 34.7 2 (450) fEhe
L:F1 08y 8 B:T7rr 70— ETITR ) 7N
. NN i o2 | MEEZ 1:11.3 3-3 35.4| — 4 440 | ETH= (FR)
51719 d—a14>770L—b 54.0 (3 1/2) (-) EHEFIZ
R:7L>FFE2T71 BUA 32— AR 1E
S - 9 E N EE 1. ~ . — HBAZB (FXR)
o 7| erv7on—ns A E R R v
L ZZXHweR BELIHTS B E=
i o2 | JARE 1:11.4 7-6 35.3| — 5 464 | DAIE (FE®R)
7|8/10| 7 T~7VU—F 54.0 (1/3) o | e
Z:va7x BNO=T5A4 > REH S
— i 2 | AEEN 1:11.8 9-10 35.3| — 8 424 | BAHEER (BR)
Eﬂ 4| ARXEIITR 54.0 @ 1/2) (=) | B EvTLyET7—L
L:id—IRAqMA— B:T7AYCEFUY ERHKS
S 03, o~ #o2 | EOEE 1:11.9 5-6 35.8| — 10 | 446 |BAR (FR)
9|5|5|H¥/NVH 0 (7€) ) |wrE
L:TVHA XTI R B/ —FrelLF—FK gl F&Rl
. s 2 | EHP 1:12.1 5-4 36.1 | — 11 416 | Ki&SH (RR)
10811 TE/B7> 54.0 (1172 (o | KHEEt
RR—ANFZAHYLTF— BINIHF T AT LTHI Ty —L
e — s e =% : - - BEER (EXR)
1 3| ITNT N o2 e (11.112/.3 -1 | 35.5 9 (416) il
RHLRA LY E =T BINFFIY L wiE  EBL
@ 21 L
£ 46.2-34.3
NA 24 L | 12.3-11.5-11.9-11.6-11.3-11.4
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 6,8(2,9) (5,11) (1,10) (4,7)-3
43—F— (¥6,8)9(2,11) (5,10) (1,7)-4-3
[ RN
B 8 620 714K 6-8 930 e E 6-7 930 JEE 1-6-8 2,990M
# B 8 180H4 1-8 370M B E 6-8 2,700H JEH 8-6-1 24,370
6 280M 1-6 560M B H 8-6 5,490
1 140/

ABICOVWTRDTEEERROODE. TR LIV,




